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CG-11-2020
WINTER EXAM 2020
Subject Name : NA-318_Elective 1 : Indian Economy-I| - GE-I-1_V_20-03-2021

Instruction / {frrn/ -

* Follow the detail instructions given on OMR Sheet
* 3 T 3R Gl §S G Treled .

Q.1
India, China are

HRA, T g &2 TR A?
AlDeveloped [fa&Rad]
Blpeveloping [fsaereiia]

countries >

Q.2
What are basic characteristics of Indian Economy ?

HRAT Yeacr = Ao afAe Hiorcdr?
AlHeavy population pressure [e&EEdT aTedT &aT]
BlLow per capita Income [37e9 Xa1$ 3cqe+]

Q.3
Long form of GDP

GDP T €19 §9 FI0Tc?
AlGross Domestic Product [3Ted S1afees wisac]
BlGross Domestic Pay [ SifEea 1]

Q.4
Labour is factor of production

HTHIR AT GTHrAT FATALA HEY g
Alprimary [sarfa]
Blsecondary [gfacia]

Q.5
What is the age non working population ?

ClBackward [ATmE]
Dlsuper power [ drer]

Cla" is true [A' sRYR]
Dla" and "B" are true [A' T 'B' Is]

ClGross Dairy Produce [3e S gisgE]
DlGross demand product [3 B#TE wiger]

C]supplementary [TT=h]
Dluseful [3u2iaf]

ANRTEATAT FIOTAT TATAT olieh HIFPITT T AdT?

Al15 years and below [¢$ a§ T @Tele]
Bl60 years and above [&o a¥ @ caT adiel]

Q.6
The term underdeveloped country is

AFRAaTe e Thedar 3
Alimaginary [#reqfee]
BIFALSE (g

Q7

Clais correct [aR1eR]
DIA and B are correct [A @ B aX1eR]

ClRelative [@mded]
DAl the above [adrer & sR1eR]

High proportions of Indian population are engaged in one of the followings

T@eirel YT 0T 81T HTUH AFEEAT FRIT 3Te
Alservice sector [&aT 8]
BlMilitary Department [T &a]

Q.8

Clindustrials sector (3o a1a]
Dlagriculture sector CREES
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What is long form of OEC D
OECD o &9 §9 HIura?

A]Development organization of Economic cooperation

and Development [STeliuee TSI 31T
GehlellTHeh HUTEIINTT 375 CTelIvae]

Clorganization of Export Commodity [3ifaaTgarereT 3ih TaFaare e
Dlorganization of Essential Commodity [3efeTgster 3Tt Tasede SRS

Bloil Export countries data [3iTSel TaaaIE FéreT 3TeT]

Q.9

What are the measures of flow of goods and services?

& JTTOT JaT e YaTg 0Tl Tgcilel AlSTell STidT?
AlTotal of National Income [TH0T TSET 3cTeT]

BlThe criteria of developing nation [f&&sT efrer &emar

]

Clthe employment producing Sector [JIST9TR 3cdTeet &14]
DlNone of the above [aSer 8T ATEN]

Q.10
Long form of CSO is

CSO I &Y T HIUTA?
Alchief Security Officer [€ YRR 3B
BlCentral Stastical Organization [¥eer Fefeeahd]

Clcensus Survey Organization [dgF & 3TAge]
Dlcentral Service Organization [aer 8T ATEN

Q.1

How many estimates are of National Income in India?

TSERT SeTeet AT Fohell ST JeA?
A]Two [Eﬂ?ﬂ
Blone [Th]

ClThree [d¥1]
DlFive [ara]

Q.12

In which year National Income Committee established after independence ?

Alyul-49 [sfef #28%]
Blaug-48 [3ifaree 2j8¢]

Claug-49 [3iFeTee 2)%]]
Dljul-48 [7e ¢2yc]

Q.13

Maximum population is engaged in in india
QIR 37Tt ATGUITAT fohelt ATfersr 3med ?

Al agriculture [ Clservice [&am

Blindustry [3eztr] DlNone of the above [aSer 8T ATEY]
Q.14

What essential factors are defined by CSO for organized sector ?

CSO o Hufed &TATHTS! HIvTd HgcedT e ATeod dHel?

AlTo maintain annual accounts [aTR® &g #ig 5av]

BlThe organizations are under any ACT [FeaesiaT
Ateufr 3raTd

Clorganizations are registered [HeeT HIUTCITEY HITEATAIT A0
DlAll the above [a¥rer &d]

Q.15

Which one of the following is limitation of National Income Estimation ?

QTelTerehT ASERT 3ot AT Uah FATGT HIOTCAT?

AlUnreported illegal Income [iig T aerer &M
3cedd]

BlAbsence of data on Income Distribution [3cTeeT

FIeRATAT 3THSARY 3TcTe AR

CINone of the ‘A" and 'B' above [a3rer A T B =T8N
DlA' and 'B' above are correct [a3ier A @ B aX1eR]
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Q.16
Which one of the following is not a trend of National Income Growth and structure?

TrelTeT YehT hIOTCT ASERT el 30T Ta=AT el 31T
AlAnnual | growth rate during the plans [TTST=TT gX&gTeT

3rEelel aTfieh €Y &) Clshare of organized and unorganized sector [Fafed @ 3rFafed ST TEHTT
BlUrban and Rural Income break-up [2rg%r 30T aimefior DAl the above [a€rer @& sRieR]
3Tt TaATaTOR]
Q.17

In which state of demographic transition the death rate is high ?

SR EET FhHATCHS HIUTCAT IaEAT He X 3T HHAT?

AlThird stage [faedr 3raea] Clsecond stage [gfadr sraean]
BlFirst stage [sr2@7 31a€T] DIAll the above [a€rer &4
Q.18

How many stages sequence in demographic transition ?

NP TEAT HHUTAT ShiATaTel fhal €0 3Med?

AlTwo [ Clrour [@R]
BlFive [qr] DlThree [f=1]
Q.19

What was death in the beginning of the 19th century in advanced countries ?
¢Q ST TcTehTeAT i GBI FaTel eI Hcg & fohell glar?

Al10-25 per thousand [¢o-34 &Y &oTRI Cl3s5-50 per thousand [38-$0 &I §<TR]
B120-35 per thousand [20-34 X &I DI35-60 per thousand [39-&0 X &I
Q.20

Which state of India shows highe proportion of females per thousands ?

ATl SIOTAT AT &3 FoIT TGS THTOT FaTd STEd 38?2

AlMaharashtra [FgRTse] Clkerala [3<a]
Blpunjab [d<Ta] DlTamil Nadu [a1f#es=Tg]
Q.21
Which factor determines sex ration ?
HIOTAT T folar gamoT fAfcaa Hear?
AlLiteracy [dTeRan] ClMalnutrition [gsoT]
Blpoverty [ar8re] DINone of the above [arer T ATEY]
Q.22

Economic development is generally associated with growth of

3172ieh f9erTd 8T GaaTeRY0T @reliel ST S 31e?

Alpopulation [eleraEa] Clais True [T sR1eR]
Blurbanization [2r&Si@oT] DlA and B true [A T B SR1e]
Q.23

Migration from the rural area results into

TTEHYOT T TAATITT RO TTeiiel Yhr SHoTar?

Allncrease of employment [TISTTRI dTd] Clincrease of Industries [3a31131i?i1 dre]
Blincrease of infrastructure [IraTs{ FaYd are) Dlincrease of population in Urban area [2edieleaadd are]
Q.24

What percent of land is possessed by India in world ?
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ST elelcl HRATET 87 ST JATOT fohcl?

Al1.50% [1.50%] Cl13.50% [3.50%)]
B12.40% [2.40%)] D]5.00% [5.00%)]
Q.25
Occupations are broadly divided into types ?
ST FIRI0T FTIRUTIOT JHRA 3FA?
AlFour [ER] ClFive [ara]
BlTwo [&141] DlThree [+
Q.26

As per 2009 years data which sector shared high proportion of employment in India and Pakistan ?

HIA T UTTREdTeT AT G2 008 TAT HTHSANT THR HIVTAT &3 3fereh AT THATOT Frei?

AlManufacturing [3edTEe] Clagriculture [f¥]
BlMining [@1<] DlNone of the above [adier 8T ATEY]
Q.27

In advanced countries like England, Japan the work participation rate is
33013, ST IT HREAT YT ST AR AFHTAT &7 3

AlBetween 45 to 50% [¥9 to Yo Y% TIAT SIFIT] ClBetween 60 to 75% [€0 to VY Yo TIAT EIFIT]
BlBetween 50 to 60% [3° to &0 % TAT EIFT] DlBetween 25 to 40% [39 to ¥o% TAT EIFAT]
Q.28

As per census data of 2001. the situation of rural women of India is

R00¢ TIT SFAIUTOITHR R cATclTer AMeAoT g Rufa___ 3me

Al argely engaged in economic activities [3TRie& areia .
gely engag [ ClThey have to work like cooking cleaning etc [cT=IT STgTeT STETRTET FHIdaT EATAT
e TTC]

B]they have to look after child [EgddTe , Ta=rdT AT DIAll the ab )
e above [aTel
HREIT HTATT 3T8]

Q.29
When was the work participation rate come down ?

AR TEHTIT &I HIOTAT aNf FHHT STAT?

Alln 1961 [3R&¢ e Clin 1971 [3R06¢ FEA]
Blin 1951 [2Ry¢ #7EA] DlNone of the above [aer §T T8
Q.30
Service sector is which type of business sector ?
T 8 W PO 67 g2
Alprimary [sarfa] Clertiary GRIR]
Blsecondary [efad] DlAll the above [a¥rer T4
Q.31
Name the country which has higher per capita income ?
3T 318 3cTeeT ITFUTR 2T HIUTA?
AlAmerica [3R&T] Clcermany [s7#5+]
BlEngland [g7ei3] DlAll the above [a€rer &4
Q.32
Who is primary factor of production process ?
Scutee AfhAciel oW e HI0TAT?
AlEngineer [31f3ian] Clboctor [feex]
Bl D]
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Manager [cTd¥UTI]

Labour [#1f&]

Q.33
The direct corelation of energy is with ?

3ofaT Eaey A Aol 31 gdr?
AlEconomic Growth [31f3& g€l

BlThe size of per capita income [EI31S WHTUT|

ClA and B true [A @ B R1eR]
Dlonly B is true [wed B sR1eN]

Q.34
Total of National Income is

THUT TS 3o § S,
Alstock [weTe]

ClGold [a1=

BlFiow of goods and services [a&q] 31TTOT Gar rem arg]Plsilver [@id)

Q.35
Unemployment is

AR ¢ faraereier srdegaeda klir
Alcharacteristics [§2i2]

BlFactor [ereeh]

of developing economy

ClReasons [@R0]
Dlpopulation [ereeEam]

Q.36

Developing countries are divided in three parts on the basis of

T gan=ht ITYRTER et AT fFmarofy avelt STy

AlLow Income [37e9 3cYed]
BlMiddle Income [FerT 3cae4]

C]High Income [3Td 3cYed]
DIAll the above [a€rer T4

Q.37
How many periods of estimates ?

T ATATAT fehell Tgelt 3meer?
Alpre-Independence [Faa qd]
Blpost -Independence [FaaRicar]

ClA above is correct [A aRYeR]
DlBoth A & B are correct [A T B sR1eT]

Q.38
What are the basic characteristics of Indian Economy

HRA I Ed Forsqd AT HIUTC 3mear?
AlLow per capita Income [3769 ZXES 3cde=T]
BlHeavy population pressure [elieaaar gaTd]

ClMmisdistribution of wealth [FediTer 1T aTed]
DlAll the above [afrer 8T &4

Q.39
During 1891-1921 population growth rate was

2¢RE 238 T HTATAHIT ShEET Tl & gl

Alstagnant [fEer] ClHigh [3=
B ow [&#] Dlsteady [&2]
Q.40
Long form of HDI
HDI = &1E §9 HIoTd?

AlHuman Development Index [goT STIHC 53]
BlHigh Development Index [gTT Saeeie S354]

ClHeavy Density Index [2f& 3e72iiéT 23]
DlHeavy Drive Innovation. [8f& 3T8a s+ider]

https://srtmun-admin.epariksha.net/InstituteAdmin/Reports/AllQuestions.aspx

5/5



